$13[0 WP a=TFhRyr—1)—45 F3fh

BRRT HFBT
HISF—L%  [#5EENO 1 @® > 2
LEF 1
BFBF 2
BRRTF 3
BITF 4 e @ 4
HWEEF BHLF
Hesh ES LB F—L  Ba& F—L
i ~ gumr 0[S 2o  #HFETF
2 ~ wExF  5(5 []1  ®RxT
3 ~ #ERF  2(, 2)2 mmxT
4 ~ #rxr 25 0)1  EmmT
RAE - B R
HMPBETF | BF&F | BR3%F Br| B |52 & | F5| &5 |8KE B
6-0 -0
1oy oo 1 3 3| 1|lofl1|11]|2]9]| 2
®) ®
1-2
2 2
i -0 1o 1] 1| 2|12]-10] 4
A
3-1
5 1
2o 6|l 2|00 7]|2]|5]| 1
@)
2-1 1-3
2o J2)1lp o8 1ol 1 |1]3|7]-4| 3
A ®

M—5%1



B13E U a=ThRyr—)—4 B3

#F- LBk
HISF—L%A  |#ENO
#EE-LBx | ® Szl
oI 2 5 2
55 3 HP - LE
Fiy—L 4
HF-WES 5 4 <
Ri—L
AH HERS # HERA F—L1s e F—L1s
0 - 3 ~ 838
#ME-wlx o o 6] 9 TyUIn
_ 0 -0 R
2 57 (g 2] 2 RY—L
3 wEwmE  o(2 ZJ)o #MF-wBx
~,98 0 - 1 —
4 I oI)b 0[ 0 - o] 1 57
5 ku—s  2( 2 9)1  EF-LEBS
FAE - B 3=
F—L |BR-WBR| TS| 57 F—L [#r- LBE| Ba | B A [ A [8%E &
0-3 - 0 3
=0 0 9 0 9
ﬁﬁﬂgﬁm [076] [ - 0 6 0 0 0 18 | -18 5
o [
3-0 0 -
.98 1
e 9[60010 ’ 0. - 3 | 1 o | 1] 8| 3
- 1 0 0 -
57 () 0 o %0 -] 3 | 1 1 2] - 4
@) o
- 0 1-0
Ry—L () 29 0° 2[1-1]1 6 | 2 4 11| 3 1
O O
3 0 - 0-1
sE=.0 |9 0 1
ﬁﬁl}g%m 6 0 [ - [1 - 3 1 10 2 8 2
O o

M)—5%&1




8130 ML =FhRyr—)—J E3H

f4xTO—1 THIE1
HIGF—LHB  |HENO 1 2
£4TO—1 1
THEE 2
AR HER5 &5  HERA F—L B8 F—L
0o 2 =
1 ~ 4TA—1 0[ 0 1 ] 3 LHEE1
_ 1 2 =
2 ~ 4TO0—2 1[0 2]4 LoaE2
FAE - B
F—L | 41T0—1 | LEEE1 | /02 | HHEIE2 e | B |8ln| 8 | 58| k8 |BKRE B
0-2 1-2
A4ITAa—1 0[0’1J3 1£0’2J4 1 0 1 2 1 7 -6 2
[ @
2-0 2 -1
4 1
THEE 3[1 *0]0 [2*0] 7 2 1 0 7 1 6 1
O O

—5%&1



